129cm

—— 45X165mm4# i 4] =
(R4 &y R )
— 84.5mm R 4R B A
O dn FEER)

CEL T

-‘:L»

I =T =

— 0. 4mmv¥ &

-
I o B
4.5 441cm A5
2 o F— —& B
;n "P %ﬂ #
—0
Fo A AcF iR
— 34X31mmé# 7 4= 4m L 3X3. 6CMir% & & 4
— & B g —— 24 B ok % 4E
—— 0. 4mmv 4%

34X31mmér 7 4= 1%

165mm o
— EERE

45X165mm4E

o Al

s axE

3X3. 6X122cmtfr= A
2 Btk
0.4mm¥ &

120cm

s arxE

0.4mm¥ =

42X31mméE F = & &
& O

TR

AR

CEBPAG
L.#F & % 0. dmmv

2977 R F 7 OREERE. THFBRT AT
3.4F> ¥ 5 4bX165mmit 3] > ¢

4B EIHfe FHAB PERIEAT 5 ARG

T (A3 F 55 ik )
L i b




